Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:

3,863 % = 38.63 1,447 x = 1447
10, 194 x =101.94 5,217 % =52.17
3,518 x =35.18 8,29 X =82.9

6, 994 x = 69.94 10, 733 x =1073.3
8, 624 x = 862.4 4,022 x = 4022
5,815 x = 58.15 2,684 x = 26.84
6, 193 x = 6193 3, 646 x = 3646
3,32 % = 3320 3,676 x = 3676

8, 863 x = 886.3 5,663 x = 5663
8,517 x = 851.7 4,547 x = 4547
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Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:
3,863 x 10 = 38.63 1,447 x 1000 = 1447
10,194 x 10 = 101.94 5,217 x 10 =152.17
3,518 x 10 =35.18 8,29 x 10 =82.9
6,994 x 10 = 69.94 10,733 x 100 = 1073.3
8,624 x 100 = 862.4 4,022 x 1000 = 4022
5,815 x 10 =358.15 2,684 x 10 =26.84
6,193 x 1000 = 6193 3,646 x 1000 = 3646
3,32 x 1000 = 3320 3,676 x 1000 = 3676
8,863 x 100 = 886.3 5,663 x 1000 = 5663
8,517 x 100 = 851.7 4,547 x 10 = 4547
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